8000 GeV pp tt
Q I I | I I I | I I I | I I I | I I I | ﬂ
- —
—_— 0]
0.1— Ac VS M, .. (ttevents, parton level information) — 3
- =
- m CMS —a
— —&— Pythia 8.308 default N
0.08 — —a— Pythia 8.308 default-noFsr —=2
| —&— Pythia 8.308 default-noRap e
L o
=
0.06 — —x
0.04 — —g
— <
™
— - ©
o
B B
0.02 — =
o |
u k<)
N
— 1<
=
°C BE
9
B 18
- 18
_0'02 __! ] ! ] ] ] ! ] ! ! ! ] ] ] ! ] ] ] —!: E
2 & —2
%) B i
= - _|
O B ]
S 1 1
e u _
IS | _
o
0.5 — — 0.5
1 | 1 1 1 |
1000 1200

I\/ltbar{t}



	Contents
	Page 1


